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This knife; what did it touch — SR%2 YAIT P20 N7

OVERVIEW

X217 explained that the reason ¥"1 did not mention 2°%5 nX™Y because there is no
cause for the knife to become Xnv even if there would be (Ppwnn) 0°%5 nRMY in the
w7pPn (as he goes on to explain). Our MdOIN clarifies s'%27 assumption.
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And X217 assumed that the mwn (of 77w 121 1200 101 K HY) is discussing a case
where there were no liquids (that were PXnv) which came in contact with the knife.

SUMMARY
The knife presumably did not come in contact with Ppwn.

THINKING IT OVER
1. Why indeed did %27 assume that the >0 did not come in contact with Ppwn
TRIY?

2. If indeed the knife did not come in contact with Ppwn and a >3 cannot be 52pn
RMY from 799K or 293 as the X3 explains, why did the 7i1wn need to mention at
all that the 120 1s M17v; it could not have been even possible that it should be xnw?!>

! Otherwise if there were PRAY Pwn which came in contact with the knife it could become Rnv for the 727 1" n°n
decreed that 295 are R 221 from &MY Ppwn (even if they are not an XMW aR) out of concern of 7aM a1 PPwn
(which are an 78207 2R and are 0°75 RnwY).

% See X 7"7 1" and HRmMW 127,
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